Ha4FHEXED1

A L W AT i =
A L i ES *
2K FE S ¥ 2024002809 % AFLBIT H Hf64E8 A 6 H
T % % 4 HHBENE2 S T
AT GaA) Bar | BB ET P B B EATE N
Ml T L=60.0m

TR
T (i) % F HSF64ME8H 2 7H ~ e GEM) AFT7THE2H12H
ES il L kT a7y —FTHE KI5 1 RS YN
" TN BUEALE | B2EARE | BIEREE
1 ARSI 5,110, 000
2 B BERE 5, 040, 000
3 AU RSt 5, 648, 000
LY SV e | 5,034, 000
5 BEIEHASHt 5, 850, 000
6 AMRSHALRRE T [E31
7 RS tREAM 5, 500, 000
8 HAMRathEsEAFTIE [E3
9 BRI M0 PE R 5, 648, 000
10 P& gtk att 5, 030, 000 O
T OE Ol A 6,212,800 |f 1% Il FR AH 4% 5,527,500 |% FL ffi #% 5,533, 000

(Bik) 5, 648, 000 (Bitk) 5,025, 000 (Bik) 5, 030, 000

(HAZ - F9)




Ha4FHEXED1

AL BT W &
A L i ES *
2K FE S ¥ 2024002865 % AFLBIT H Hf64E8 A 6 H
T % % 4 BN T H 5 B METE
AT GoA) Smer BRI EGERTENE ST B AN
i TAER  L=60. 0m

TR
T (i) % F HSF64ME8H 2 7H ~ e GEM) G742 H3H
ES il L kT a7y —FTHE KI5 1 RS YN
" TN BUEALE | B2EARE | BIEREE
1 AR KREHETE 4, 591, 000
2 AR AST 4, 563, 000
3 dLHARZ A kit 4, 553, 000
4 =T UoHRE 4,551, 000 O
5 BRASth vF T 4, 565, 000
6 I VAAFERKAS 5, 500, 000
7 RSt o TERT [E3
8 ARG A 4, 555, 000
9 AR Z T 4, 860, 000
10 A RRe Ak 3 4, 560, 000
T OE i K 5,626,500 |fx 1% Il R OAE 4% 5,003,900 |% #L fli # 5, 006, 100

(Bi#h) 5, 115, 000 (Bik) 4, 549, 000 (i) 4, 551, 000

(HAZ - F9)




Ha4FHEXED1

A FL FH 1T | +=
A FL i S <
K EF ¥ 2024002875 & AFLEATH Sf64E8 H 6 H
T % 4 JITH R AT
W4T GRIN) ST ARILTT =FHEETI H e #N
Jiti THER  L=45. Om

THEEHE
THY i) %5 F ASM6HE8H2TH ~ ek GGERD SFT7TH2H 3H
3 il LR+ T a3 —TF BRI 15 a4 w4 AL
& AW o&F D e - . i AL
= ﬁ:ﬁ 2o o % f//]: w1 IE]]\*L%’E o2 IE]]\*L%’E w1 @%*ﬁgﬁ (5%7]::)
1 MAEHETA X - V— 5, 389, 000

(T ) PRt 6 A i)
2 HRREH= v P 5, 386, 000

(T ) PRt 6 A i)
3 | BHEEEM S 6, 051, 000
4 Bkt Y — o7 — MR FEIR
5 B Stm=fis SR 6, 283, 000
6 |ERE RS 5,410, 000

(I ) PRt A6 A i)
7T BRSOV U T 5, 398, 000

(T ) PRt A6 A i)
8 | MR Bk B 5, 396, 000

(o T ) PRt Ao A i)
9 HRRAHEARTIHEN 5, 800, 000 O
10 (RSt = LT 5, 383, 000

(T ) PR 6 A i)
T E A O 6,677,000 |f% 15 # BB i #& 5,955,400 [¥% AL i 4% 6, 380, 000

(BiEk) 6, 070, 000 (Bith) 5, 414, 000 (Bitk) 5, 800, 000

(HAAZ - H9)




Ba4sEXED 3

A L W AT i =

A L i ES *
R FE % 2024002821 % AFLHIT H Hf64E8 H 6 H
T %4 JNTHBFHL S WEREHEGE
AT A BT FRILTT BRI AR

ZFLIER  1=35. Om

TR
T (i) % F HSF64ME8H 2 7H ~  GERKGEM) G641 1H25H
ES il LR T F 1k RS YN
A I L BURAE | BeEARE W1EREE |
1 BAR&ET — MERE 900, 000
2 AR SE ) B GE 850, 000
3 fﬁﬁ%ﬁ:? AP Ea Pz 730, 000
4 BB LA Rk 840, 000
5 AR 900, 000
6 MR ARG Rk
7 ARSI R BT 590, 000 O
;tgggﬁ 972, 400 % % g ? 649, 000
%%ﬂ%% 884, 000 % i B % 590, 000

(HAZ = 1)




Ba4sEXED 3

A AL B AT W F
A AL i e ®

B E S % 2024002923 & AFLEATH Sf64E8 H 6 H

THE%EA AR RS B it &R

W4T GRIA) 3577 ARILT & H AT SRR HN

EFEIER L=60. Om

TR
T () % F HSF64ME8H 2 7H ~  SERKGGER) SM7HE1H6H
ES il LR 5K 5 1 RS YN
BN e BIEALE | B2EARE | BIEREE
1 BRAEAERE L ik At 951, 000

(e AER ] B 5 A< Vo)
2 MABM = s YRR 954, 000 O
3 RSt RHERE I 1, 350, 000
4 B2t T4 1, 450, 000

5EﬁﬁﬁﬁﬁﬂyﬁW5VF%ﬁ 950, 000
=

(e A5 ) PR 5 K i)

6 BRI E Y i 1, 370, 000
7%§%ﬁﬁ~%%kﬂVﬁW?4 958, 000
L g b 1, 424, 000 | L ® B & 954, 000

(HAZ = 1)




Ba4sEXED 3

A L W AT i =

A L i ES *
R FE ¥ 2024002930 % AFLHIT H Hf64E8 H 6 H
LHE%EA WA AR EE BB ER W
AT A BT BRI RERT ) | U PN

FH IR & A=0. 084ha

TR
T () % F HSF64ME8H 2 7H ~  GERKGEM) G641 0H15H
ES i Hir -0 R T F 1k RS YN
A I L BURAE | BeEARE W1EREE |
1 AStEb S ho v v=710 7 700, 000
2 [l Bk N 550, 000
3 R B Al ik AL 630, 000
4 7?@%@:7 REPEa o YPz 580, 000
5 BRA St RHERE I 640, 000
6 F—HALTTr = IR 500, 000 O
7 | BARBHRE = P05 PR 590, 000
;?gggﬁ 707, 300 % % g ? 550, 000
%iﬂﬁg 643, 000 % i B % 500, 000

(HAZ = 1)




Ba4sEXED 3

A B AT A
A AL i e

B E S % 2024002985 & AFLEATH Sf64E8 H 6 H
TR %A RREISR MRS

FEAT G 55T

RO o BT B Hi

EFEIER L=80. Om

TP

TH G A T

Sf644F8H27H

~  ZERGGEW)

Sf6412H4H

3 il ARG BRI 15 a4 w4 AfL
A I L BIEALE | B2EARE | BIEREE
1 &b Eshrh o o=7) 7 1, 600, 000
2 KRS AL BH AR R A 1, 074, 000
3 AIRStEREHAF 1, 014, 000
(I ) PRt 6 A i)

4 HRESEEENEHG ¥ — 1, 050, 000
5 MRAHBT V=T Y 1,022, 000 O
6 BRFnETER AR A 1, 520, 000
7T MRS AR A K 2 — 1, 023, 000

T OE il K %L M

(B A ) , 680, 800 (B A 1, 124, 200
%ﬁﬂﬁg 528, 000 % o B % 1, 022, 000

(HAZ = 1)




Ba4sEXED 3

A AL B AT W F
A AL i e ®

B E S % 2024002986 & AFLEATH Sf64E8 H 6 H

Tod S A RBTLR R

W4T Gl BT ARILT A AT AR AL 4 N

EFEIEER L=100. Om

THEEHE
THY i) %5 F ASM6HE8H2TH ~ ek GERD SM644E12H24H
3 il AR BRI 15 a4 w4 AfL
& AW o&F D e e . " AL
= ﬁ:ﬁ 2o % f//]: 51 IE]]\*L%’E o2 IE]]\*L%’E w1 @%*ﬁgﬁ (5%7]::)
1 Fars i R e 1,171, 000

(e IR A 45 AT
2 TIRALTT = SHRRA 1, 700, 000 O
3 HIESthy 25 L 1, 085, 000

e B IR A 44 AT
4 AR R B TR
5 MASHABB =&k 1, 203, 000

e A IR A 44 AT
6 ARt BRI & 1, 203, 000

(e A5 ) PR K i)

PR T v 7 a s s MRS

T 1,799, 000
T E il % OAL Ml H
(B A ) 1, 978, 900 (B A ) 1, 870, 000
b FE OB 4k b i OB &
i i 1, 799, 000 i i 1, 700, 000

(HAZ = 1)




Ba4sEXED 3

AL #

1T il

=

=

A FL i S <
B E S % 2024003048 & AFLEATH Sf64E8 H 6 H
T H %4 KET - (X B FE B E S BOIUBRAT T — 7 — RiE - e E sk 5 &5t

FEAT G 55T

RRILATBRAT =T B HiN

TP

RRILERAT 7 — 7 — M - eI mGt N = 1 f&r

TH (i) & F BF64E8A27H ~  SERLGGER) HME6MET1H14H

ES il e i e S OPIRES RS YN

A I L BURAE | BeEARE W1EREE |
1 satt7 —2 [E31

2 BRASAT — NG 4, 200, 000

3 AUMBR S 4,100, 000

4 BERS LIS R G F T 4, 200, 000

5%%@%5%%’71'VX?A 4,000, 000 O
6 MRS HIE KD RATTERT 4, 150, 000

7 AR — 2R 4, 500, 000

8 FRA Kk Bi%E 4, 500, 000

9 MRS LI PR A BT 4, 300, 000

10 A7 PR 8 v R SRR G 55 T 4, 050, 000

;?gggﬁ 4, 764, 100 % % E ? 4, 400, 000
éiﬁﬁ% 4, 331, 000 é i B % 4, 000, 000

(HAZ = 1)




